MATH 5 SN
PRETEST - VECTORS

Find the component form of the resultant vector.

1) u=(12, -35)
Find the vector opposite u

3) u={-737, 6)

Find: 10u

5) u= (—45 —5)
v={-6,5)
Find:u+v

7 u={12,3)
b ={-3,-9)
Find: 10u + 6b

9) £=0,8)
Unit vector in the opposite direction of £

2) f=(-20,21)
Find the vector opposite f

4 u=(8,-11)
Find: 8u

6) f=(12,6)
g (—93 6)
Find: f+g

8) f=(-6,8)
b={12,-2)
Find: ~7f + 4b

10) £=(7,-1)
Unit vector in the opposite direction of f




Find the magnitude and direction angle of the resultant vector.

11) a={-1,-7) 12) u={1, -6)
v={-7,0) v={-1,-7)
Find:a-v Find: —u +v

Find the dot product of the given vectors,

13) u=(3,-4) 14) u={(-5,2)
v={5,-3) v={8,35)

Find the measure of the angle between the two vectors.

15) u=(8,9) 16) u={-4,-2)
v={3,-3) v={(8, -9)

Find the projection of u onto v.

17) u={(-3,5) 18) u=(-7,7)
v=_3,-3) v={(-8,4)

State if the two vectors are parallel, orthogonal, or neither.

19) u=(5, —40) 20) u={-20, -8
v={-8,-1) v ={6,—9)

21) u={8,-9) 22) u=(15, -15)
v = (40, —45) v={3,-3)




@ Givae A= (-1,49)

R - (18&3)

.y : i
Frod € i F C dividan ABP R reh? df

= —
M“CB -k ch

?: (}\1;3‘7)] o] @ ln'nea' Cawfsw-n-ﬁh

-~

(3 /.:A‘PM/J—

$ T (30) wd V2 (4



MATH 5 SN “Zr!:l

e

PRETEST - VECTORS

Find the component form of the resultant vector.

1) u={12, -35)
Find the vector opposite u

(-‘I‘Lth)

3) u={-7/37,6)

Find: 10u

(—“10(’4‘-"‘!—, ba) v/

5) u= <_4’ _5>
v={-6,5)
Find: a +v

("13} O) l/

7 u=(12,3)
b=(3,-9
Find: 10u + 6b

(1o 3 + (=19 =5
(1o, —2) v/

9) £={2,8)
Unit vector in the opposite direction of £

£ (-, -9
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2) £={(-20,21)
Find the vector opposite f

(e, - i

4) u=_8,-11)
Find: 8u

(61,~8¢) v

6) £=(12, 6)

g={-9,6)
Find: f+¢g

(=t v, -4) (% )

( 24, 0) l/

8) f=(-6,8)
b={12, -2)
Find: —7f + 4b
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10) £f=(7,-1)
Unit vector in the opposite direction of

sVqart = VFo
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Find the magnitude and direction angle of the resultant vector.

1) a=(-1,-7) b 12) u=A1, -6 (‘._, Y H(=i-
v={(-17,0) -1 v={1,-7 )
Find:a—-v = (b; 7 - Find: —u+v ("11'4
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Find the dot product of the given vectors.
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Find the measure of the angle between the two vectors.
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State if the two vectors are parallel, orthogonal, or neither.
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